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R CRHE) =18 R (FE) % 600 62% :18,500, +:18,200 3 Bi 800 64% |#+:17.100
700 62% :18,300, +:17,800, H:16.600 400 62% |#:17,100, £:16.700, H:15.800
800 57% 9,800, #:21,200, £:19,700, H:16,600 800 59% 8,800, £:19.800, £:18,700, H:15,800
800 55% :21,400, £:21.200, H:16,600 800 57 120,300, 1:19,800 :15,800
800 55% A#£:21.400, £:21.200, H:16,600 800 A%:20,300, 1:19,800 :15,800
800 55% :21,300, £:21,400, 1:20.800, H:16,700 800 A:20,200, £:20,300, 1:19.800, H:16.400
200 58% :19,100, £:21,100, £:20,800. H:16.700 100 :18,100, £:19,300, 1:19,700, H:16.400
800 59% 121,100, +:19,000, H:16.700 700 [£:19,700, £:18,000, H:16,400
800 59% 121,400, +:18,000, H:16.700 700 62% |£:20,000, £:17.000, H:16,400
800 59% 121,400, 1:18,000, H:18.300 700 62% |£:20,000, £:17.000, H:17,200
700 62% 121,900, +:18,000, H:18.800 400 62% :21,200, +:17,000, H:17.800
700 62% 121,900, +:17,700, H:18.800 400 62% :21,200, +:16,700, H:17.800
200 61% :18,200, £:26,000, +:17,700. H:18,800 400 62% :17,200, £:25,100, 1:16,700, H:17.800
300 58% :19,000, £:26,000, +:17,700. H:20,300 200 61% :18,000, £:25,100, 1:16,700, H:19.300
,300 58% :19,000, £:26,000, +:17,700, H:20,300 200 61% :18,000, £:25,100, 1:16.700, H:19.300
,300 58% :19,000, £:26,000, +:17,700. H:20,300 7.200 61% :18,000, £:25,100, 1:16.700, H:19.300
,500 58% 120,800, £:26,000, +:17,700. H:20,300 7.500 60% :19,800, £:25,100, 1:16.700, H:19.300
(S 600 62% 118,500, £:16,800 800 64% 17,000

600 62% :18,500, 1:16,800 ,.800 64% 17,000

1100 61% :17,900, £:20,900, +:19.500, H:16,600 400 62% 400, 1:18,500, H:15,800

8.800 57% .800 59% 8,800, £:19.400, H:15.800

8.800 57% : : 7.800 59% 8,800, £:19.400, H:16.400

7,800 59% Ei 18,800, 1:18.100, H:18,000 700 62% x: 7,800, £:17,100, H:16.900

7.200 £:18,600, 1:18,100, H:18,000 400 62% [£:17,300, £:17.100, H:16,900

7.200 £:19,400, £:17,900, H:18,800 400 62% [£:18,000, £:16.900, H:17,800

7.200 A£:17,900, £:18.900, H:18.800 400 62% A+:16,900, £:17,300, H:17.800

7.200 A:18,200, £ 0, 1:17,900, H:18,800 400 62% A:17,200, £:17,300, 1:16.900, H:17.800

7,800 59% A:18,800, £:21,900, +:17.700, H:20,800 700 62% :17,300, £:20,300, H:19.800

7,800 59% A:18,800, £:21,900, +:17.700, H:21.200 700 62% :17,300, £:20,300, H:20.100

7,800 59% A:19.600, £:23,100, +:17.700, H:21,200 700 62% :18,400, £:21,400, H:20.100

,300 56% A:19,600, £:22,700, +:17,700, H:21,200 ,300 58% :21,700, £:16,700, H:20,100

,300 56% A:19.600, £:23,100, +:17.700, H:21,200 ,300 58% 400, +:16,700, H:20,100

700 62% A:18,900, £:21,900, +:17,700, H:20,800 400 62% 300, #:20,300, 1:16,700, H:19,800
700 62% AR£:17,700, ﬁ.zl 900, H:19.300 400 62% ;16,700 ﬁ:ZD 300, H:18,300




EEERE 2015/2/3  ~
) . 3MTA 378
ELiES e il
RRECRE) =18 R CRE) % 59% |®&+£:17,600 600 1
59% 7600, £:18.100. H:16.700 500, £:17.000, H:15.800
56% | A%:19.200, +:18,700. H:16.700 200, £:17.700, H:15.800
51% | A%£:20,700, £:19.700. H:16.700 ££:19,700. £:18.700, H:15.800
51% | A%£:20,700, £:19.700. H:16.700 ££:19,700. £:18.700, H:15.800
53% | A%:20,700, £:20,200. H:17.000 ££:19,700. £:19.200, H:16.400
58% 119,500, £:19,700, +:19,200, H:17.000 118,500, £:18,700, +:18,200
59% 18,100 :17.000
59% 118,100, £:18,000
59% 118,100, H:17.600
59% 117600, H:18.100
59% 117600, H:19.200 [%:16.500. H:18,200
57 121,000, +:17,000. H:19.200 [%:20.100. £:16,400, H:18.200
7 123,100, +:17,000. H:20.700 [£:22.100. £:16,400, B:19.700
7 122,600, +:17,000, H:20,700 121,600, +:16,400, H:19.700
7% | A:19.500, £:22,600, £:17,000. H:20.700 K:17.800, £:21,600, £
7% | :20.200, £:23,100, £:17,000, H:20.700 £:19.200, £:22,100, £
(S 59%
59%
59% | A.18,000, :17.900 K
55% :20,200, H:16.700 ££:19,200, H:15,.800
56% | A%:19,200, £:17,600. H:16.700 £2:18,200. £:16.500, H:16.400
59% | A%:18,200, £:17,600, H:17.200 K£:17,100. £:16.500
59% 300, H:17.200
59% 200 7100
59% 600, H:18.,200 117300, B:17.100
59% ,900, H:18,200 ,900, B:17.100
59% 200, H:20,500 200, H:19,500
59% 200, H:20,500 200, H:19,500
59% 700, %:20,100, H:20,500 200, H:19,500
55% 2,100, £:17.000, H:20.500 [£:21.000. £:16,400, H:19,500
57% 121,300, £:17,000. H:20,500 120,200, 1:16,400. H:19.500
X 59% H:20,200 H:19,200
1332 28 7.000 59% H:18,700 H:17,700
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X . E—o#
ERE | wzix s
HR CHE) =1R R CHE F [ JL B 800 68% | 16,600, £:16.500
E 000 66% |3 X
B 900 61% |4 000, #:19.200. H:15,000
L E 000 59% |4 400, +:19,200, H:15,000
JL E 000 59% |4
L E 000 59% |4
JL B 400 62% |-
L E 000 63% :
JL319 B 000 63%
L321 E 000 63%
JL323 B 000 66%
5 E 000 66%
JL327 B 500 64%
L E 500 62%
JL L 500 62%
L EE 500 62%
JL Hai 800 61%
[EEES L EEj ,000 68% |3
JL30 L 000 68%
L30 EE 700 %
JL30 L 000 % 700, £:18.100. H:15.000
L EE 900 700, £:18,100, H:15.200
JL L 000 6,400, H:16,200
L EE 500 400, H:16.200
JL L 500 200, H:17.000
L EE 500 200, H:17.000
JL Hai 500 ,200, H:17.000
L32 EE 000 3 100, B
JL322 L 000 3% 100, B
L324 EE 000 3% 800,
JL326 L 600 60% 100,
| _JL328 EE 7,600 60% 100,
JL330 B 5,000 66% 400,
JL332 i | 15000 66% |A:15,800. £:18.800,
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R (PIH) =3[ RECRE)FE [ JL ] ,800 66% ,000
E 300 63% 300
B 400 58% 300
L E 400 56% 400
JL E 400 56% 400
L E 300 56% 300
JL B 700 62% 700
L E 200 63% 400
JL319 B 200 63% 400
L321 E 200 63% 400
JL323 B 100 63% 700
5 E 100 63% : 300
JL327 B 00 62% : 800
L E 00 3% A 7,600 800
JL E 00 3% A 7.600 800
L E 00 FES 1 7,600 800
JL B 00 63% | 7:18,400, £:22.100, H:17,600 800
ESES L. B 00 65% 3:14,100 100
JL30 B 00 65% | H:14,100 100
L30 E 00 63% | H:15,100 700
JL30 B 00 59% | A%:19,300, £:18.400, H:15.100 800
L B 7,100 1% [A%£:18400, H:15,500 300
JL B 00 3% | A%:17.100, £:17.200. H:16.500 300
L E 00 3% | H:16,500 600
JL B 200 3% | H:18,400 400
L E 200 3% :18,400 400
JL B 200 £:16,600. 400
L32 E 200 +18,200. 400
JL322 B 7.200 118,200, 300
L324 E 7,200 118,200, 300
JL326 B 7.800 59% 20,100, .900
[ JL328 E 7,400 60% 0,100, ,900
JL330 E 6.300 63% 118,100, 300
JL332 16,300 63% |%:16,200, 15,300
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R (PIH) =3[ RECRE)FE [ JL 5] ,000 66% 114,800, H:12.400
5] ,300 63%
B 300 60%
L. 5] ,400 55%
JL E 400 55%
L. 5] 300 58%
JL E 700 62%
L. 5] ,400 70%
JL319 E 400 70%
L321 5] ,400 70%
JL323 E 700 67%
5 5] ,300 63%
JL327 E 800 62%
L. 5] ,800 62%
JL EE 800 62% : X
L. EEi ,800 62% :16,300, X :15,300, H:18.900
JL EE 800 62% | 18,400, £:21,000, £:15,300, H:18,900
[EEES L Ba 100 66% | H:
JL30: EE 100 66% |8
L30: EEi ,700 62% S
JL30 EE 800 59% A& 100
L. EEi ,300 60% X ,800, H:15,000
JL EE 300 [EES 800, H:15,500
L EE] 500 70% 500
JL EE 400 70% 400
L. EEi ,400 70% 0. H:16,400
JL EE 400 70% 300, F1:16.400
L32 EEi ,400 70% ,300, H:18,600
JL322 EE 300 63% ,600
L324 EEi ,300 63% ,600
JL326 EE 900 59% 300, 118,600
[ JL328 EE] 900 61% 300, H:18,600
JL330 EES 300 63% 118,300, H:18.400
JL332 i 15,300 63% e H:16,900
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R CRA) =12k RRECRA) [ JL =] 000 66% :14,800, H:12,400 5,800 ,100
B ,300 63% 5,800 ,100
=] ,300 60% ,100 7,300 ,100
L. B ,400 55% ,100 ,800 ,100
JL B ,400 55% ,100 ,800 ,100
L. B ,300 58% ,800 ,300
JL =] ,700 62% 7,300, H:15,300 900 ,300
L. B ,400 70% ,300 ,300
JL319 =] ,400 70% :15,300 ,300 ,300
L321 B ,400 70% 5,300, H:15,800 ,300 ,800
JL323 =] ,700 67% 5,300, H:16.300 ,800 ,300
5 B ,300 63% :17,300 ,900 ,300
JL327 =] ,.800 62% ,300, H:17,300 9,000 7.300
L. B ,800 62% ,300, H:18,900 1,000 ,900
JL. B #i ,.800 62% # .300, H:18,900 0,500 ,900
L. B #i ,800 62% X ,500, 1:15,300, H:18,900 ,500 ,900
JL. B #i ,.800 62% 7K:18,400, #::21,000, 1:15,300, H:18,900 ,000 ,900
EeES L. Hai ,100 66% =R 0 ,100 ,100
JL30: B #i .100 66% H: ,100 ,100
L30: B #i ,700 62% B ,700 ,100
JL30 B #i ,.800 59% S ,100 ,400 ,100
L. B #i ,300 60% X ,800, H:15,000 ,300 ,000
JL B #i ,300 63% S ,800, H:15,500 ,300 ,500
L. B #i 500 70% ,500 ,300 ,500
JL B #i ,400 70% :16,400 ,300 f— ,400
L. B #i ,400 70% ,300, H:16,400 ,800 ,800 ,400
JL. B #i ,400 70% ,300, H:18,400 ,800 ,300 ,400
L32 B #i ,400 70% ,300, H:18,600 ,300 ,300 ,600
JL322 B #i ,300 63% ,600 7.300 ,300 ,600
L324 B #i ,300 63% ,600 8,300 ,300 ,600
JL326 B #i 900 59% ,300, H:18,600 0,100 ,300 ,600
[ JL328 B #i ,900 61% ,300, H:18,600 9,300 ,300 ,600
JL330 B #i ,300 63% :18,300. H:18.400 9,300 ,300 ,400
JL332 3] 15,300 63% e H:16,900 19,700 15,300 16,900 ———




813 108130 ~24

EEWAE . 2015/2/3  ~
T0/13-24
FH e
= B2 \mawm| sma | 2EM i
R (PIH) =3[ RECRE)FE [ JL 5] ,000 66% 114,800, H:12.400
5] ,300 63%
B 300 60%
L. 5] ,400 55%
JL E 400 55%
L. 5] 300 58%
JL E 700 62%
L. 5] ,400 70%
JL319 E 400 70%
L321 5] ,400 70%
JL323 E 700 67%
5 5] ,300 63%
JL327 E 800 62%
L. 5] ,800 62%
JL EE 800 62% : X
L. EEi ,800 62% :16,300, X :15,300, H:18.900
JL EE 800 62% | 18,400, £:21,000, £:15,300, H:18,900
[EEES L Ba 100 66% | H:
JL30: EE 100 66% |8
L30: EEi ,700 62% S
JL30 EE 800 59% A& 100
L. EEi ,300 60% X ,800, H:15,000
JL EE 300 [EES 800, H:15,500
L EE] 500 70% 500
JL EE 400 70% 400
L. EEi ,400 70% 0. H:16,400
JL EE 400 70% 300, F1:18.400
L32 EEi ,400 70% ,300, H:18,600
JL322 EE 300 63% ,600
L324 EEi ,300 63% ,600
JL326 EE 900 59% 300, 118,600
[ JL328 EE] 900 61% 300, H:18,600
JL330 EES 300 63% 118,300, H:18.400
JL332 i 15,300 63% e H:16,900
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L. 758 7,200 A
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L. 758 .200
JL319 758 200 7
L321 | 758 0 | 67
JL323 758 00 0%
5 758 00 70%
JL327 758 00 68%
L. 758 00 65%
JL: 758 ,100 65%
L 75HHI ,100 65% 300, H:17.000
JL: 758 ,000 63% t:15,300, H:17,000
EEES L 75E A ,600 69%
JL30: 758 ,600 69%
L.30: 75HHI ,000 66% :14,300
JL30 758 ,.300 63% 200, H:14,300
L 75HHI ,200 63% 7,200, H:14,600
JL: 758 .100 68% 6,200, t H:15.600
L. 75HHI ,600 69%
JL: 758 ,600 69%
L. 75HHI ,600 69%
JL: 758 ,600 69%
L32 75HHI ,600 69%
JL322 758 ,.300 65%
L324 75HHI ,300 65% 100, H:18,400
JL326 758 ,.800 61% ,300, ,400
L328 75HHI ,800 61% ,300, H:18,400
JL330 758 .100 68% ,100, 600, ,300, H:18,200
JL332 5B 8l 14,100 68% | A:15100, £:18,100, 5,300, H:16,800
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R CRA) =12k RRECRA) [ JL303 75H ,400 70% & 1:14,100, H:11,500
L305 75H ,400 65% X ES 61
JL307 75H ,600 62% X 4,400
L. 75H ,600 57% X 4,400
JL 758 7,600 57% X 4,400
L. 75H ,600 60% X 4,700
JL 75H ,000 64% A ,500, H:14,700
L. 75H ,500 12%
JL319 75H .500 2% 700
L321 75H ,500 12% 100
JL323 75H ,100 68% ,600
5 75H ,400 67% ,600
JL327 75H 400 65%
L. 75H ,400 65% :17,400
JL 758 400 65% :17,400
L. 75 B #ij ,400 65% :17,400
JL 758 ,100 63% :14,400. H:17.400
EER L 758 Bl 400 70%
JL30: 758 ,400 70%
L30: 75 B #ij ,000 64%
JL30 758 ,000 61% 100, H:14,400
L. 758 ,600 62% ,100, H:14,400
JL 758 ,300 68% 200, H:14,900
L. 758 00 70% 114,900
JL 758 .500 12% ,700
L. 758 ,500 12% ,700
JL 758 .500 12% ,700
L32( 758 500 7. ,700, 7,800
JL322 758 600 700, 7.800
L324 758 ,600 ,700, 7,800
JL326 758 ,200 700, 7.800
L328 758 00 3 5 ,700, 7,800
JL330 758 400 65% :17.400, H:17.600
JL332 75 H Bil 14,400 65% e H:16,200
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R CRA) =12k RRECRA) [ JL303 75H ,400 70% :14,100, H:11,500
L305 75H ,400 65% ES 61
JL307 75H ,600 62% 4,400
L. 75H ,600 57% 4,400
JL 758 7,600 57% 4,400
L. 75H ,600 60% 4,700
JL 75H ,000 64% 500, H:14.700
L. 75H ,500 12%
JL319 75H .500 2% 700
L321 75H ,500 12% ,100
JL323 75H ,100 68% 400, H:15,600
5 75H ,400 67% 600
JL327 75H 400 65%
L. 75H ,400 65% X 7,400
JL 758 400 65% A 7,400
L. 75 B #ij ,400 65% X 7,400
JL 758 ,100 63% A . H:17,400
EER L 758 Bl 400 70% |k
JL30: 758 ,400 70% A
L30: 75 B #ij ,000 64% X
JL30 758 ,000 61% S
L. 758 ,600 62% X 5
JL 758 ,300 68% ,600, H:14.900
L 75 F 00 ES 1,900
JL 758 .500 12% A ,700
L. 758 ,500 12% X ,700
JL 758 .500 12% A ,700
L32 758 ,500 7. A 0, H:17,800
JL322 758 600 : 00
L324 758 ,600 00
JL326 758 ,200 00
L328 758 00 3 8 00
JL330 758 400 65% :17.400, H:17.600
JL332 75 H Bil 14,400 65% e H:16,200




bS58 13 10A1A~12

BEHEAR 2015/2/3 ~
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R CRA) =12k RRECRA) [ JL303 75H ,400 70% :14,100, H:11,500 ,100 ,400
L305 75H ,400 65% ES 61 ,100 ,400
JL307 75H ,600 62% 4,400 ,500 ,400
L. 75H ,600 57% 4,400 ,000 ,400
JL 758 7,600 57% 4,400 ,000 ,400
L. 75H ,600 60% 4,700 ,000 ,700
JL 75H ,000 64% ,500, H:14,700 ,000 ,700
L. 75H ,500 12% ,600 ,700
JL319 75H .500 2% 700 ,600 ,700
L321 75H ,500 12% 100 ,600 ,100
JL323 75H ,100 68% ,600 ,100 ,600
5 75H ,400 67% ,600 ,100 ,600
JL327 75H 400 65% 8,300 ,600
L. 75H ,400 65% :17,400 20,100 ,100
JL 758 400 65% :17,400 19,600 ,100
L. 758 ,400 65% :17,400 19,600 ,100
JL 758 ,100 63% :14,400, H:17,400 20,100 ,100
EER L 758 Bl 400 70% 500 400
JL30: 758 ,400 70% ,500 ,400
L30: 75 B #ij ,000 64% ,000 ,400
JL30 758 ,000 61% ,100, H:14,400 ,600 ,400
L. 758 ,600 62% ,100, H:14,400 ,500 ,400
JL 758 ,300 68% 4 5,600, £:15,200, H:14,900 ,600 ,900
L. 758 00 70% 1:14,700, H:14,900 ,700 ,900
JL 758 .500 12% +:14,700, H:15.700 ,700 00
L. 758 ,500 12% + :15,700 ,100 700
JL 758 .500 12% o 700, 7,600 ,100 ,600
L32 758 ,500 7. ,700, 7,800 ,500 7,800
JL322 758 600 700, 7.800 ,500 7,800
L324 758 ,600 ,700, 7,800 ,600 7,800
JL326 758 ,200 700, 7.800 ,200 7,800
L328 758 00 3 5 ,700, 7,800 ,400 7,800
JL330 758 400 65% :17.400, H:17.600 ,500 ,700 7,600
JL332 75 H Bil 14,400 65% e H:16,200 18,700 14,700 16,200 f—
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R CRA) =12k RRECRA) [ JL303 75H ,400 70% & 1:14,100, H:11,500
L305 75H 400 65% X ES 61
JL307 75H ,600 62! X 4,400
L. 75H ,600 57 X 4,400
JL 758 7,600 Yi X 4,400
L. 75H ,600 0" X 4,700
JL 75H ,000 4 A ,500, H:14,700
L. 75H ,500 2
JL319 75H 500 2% 700
L321 75H 00 12% 100
JL323 75H 00 68% ,600
5 75H 00 67% ,600
JL327 75H 00 65%
L. 75H 00 65% :17,400
JL 758 400 65% :17,400
L. 75 B #ij 00 65% :17,400
JL 758 ,100 63% :14,400. H:17.400
EER L 758 Bl 400 70%
JL30: 758 ,400 70%
L30: 75 B #ij ,000 64%
JL30 758 ,000 61% 100, H:14,400
L. 758 ,600 62% ,100, H:14,400
JL 758 ,300 68% 4 15,600, +:15.200, H:14.900
L. 758 00 70% 1:14,700, H:14,900
JL 758 .500 12% +:14,700, H:15.700
L. 758 ,500 12% 1:14,700 :15,700
JL 758 .500 12% o 700, 7,600
L32 758 ,500 7. ,700, 7,800
JL322 758 600 700, 7.800
L324 758 ,600 ,700, 7,800
JL326 758 ,200 700, 7.800
L328 758 00 3 5 ,700, 7,800
JL330 758 400 65% :17.400, H:17.600
JL332 75 H Bil 14,400 65% e H:16,200




[z |28 s EEXR(3A29A~4A30ABEND

JAL/JTA/JAC/RAC

EEHEAR 2015/2/3  ~
snom o .
X f:3:20:.0) BERA 4/1-24 %;% %5 3/29 | 3/30 | 3/31 | 4/25 | 4/26
XED | XE -
FLIR BT FaR) = /MR FIEFTR)H CHE) | JAL JAL 8,900 70 x: ,000 | 22,700 | 22,700 | 18,900 | 20.800
MR FE CRE) [ JAL JAL 7,100 72 X 0,500, H:16,900 ,500 | 23,600 | 23,600 | 20,500 | 16,900
1aRE =/ 1B FE CRE) | JAL JAL 9.200 1 x: 8,700, H:19.800 .600 | 24.200 | 24.200 | 18,700 | 19.800
INAFE CRE) [ JAL JAL 7,000 74 3: 2,600, £:19.700, H:20,200 100 | 23,600 | 23,600 | 19,700 | 20,200
iR = MR ST EIES CHE) [ JAL JAL 7.400 75% |H .800 | 23,000 | 23,000 | 17.400 | 22,200
INERFE CHHE) [ JAL JAL 6,200 77% |4 ,500 .900 .900 | 19,300 | 17.100
TBI= /I JENIE:S CRE) | JAL JAL 7.300 75% |4 .300 .300 .300 | 17.300 | 19.800
M FE CHE) [ JAL JAL 00 76% | A:16,300, £:19,100, £:19,400, H:17,500 00 | 22,000 | 22,000 | 19,400 | 17,500
SEE =/ HIERFE CRE) | JAL JAL 00 76% | ,500 ,700 ,700 ,200 00
INAFE (FHE) [ JAL JAL 00 76% |2 ,300 | 23,200 | 23,200 | 19,700 | 16,400
wR=/ L % CRE) | JAL JAL 100 76% |3 9,100 ,600 | 21,500 | 21,500 | 19,100 | 16,100
INAEE (FHE) [ JAL JAL 00 76% |%:17,700, H:21,000 00 | 23,100 | 23,100 | 16,100 | 21,000
EAE =/ EEE CRE) | JAL JAL 700 72 :20,200 ,900 | 21,400 | 21,400 | 16.700 | 20.200
IMRFE CHE) [ JAL JAL 900 73% | %:18,200, £:17,600. H:20,400 1,900 | 21,000 | 21,000 | 17,600 | 20,400
BFHR=IML BB CRE) | JAL JAL ,000 74 % H:15.300 1,500 | 21.100 | 21,100 | 15.000 | 15.300
IMRFE (HE) | JAL JAL 000 74% | £ H:16,000 1,900 | 21,100 | 21,100 | 15,000 | 16,000
=IR=/Ma ZR%E CHHE) | JAL JAL ,000 72% 1,500 .100 .100 000 000
MR FE CHE) [ JAL JAL 000 72% ,500 | 21,100 | 21,100 | 16,000 | 16,000
ME=/I EE CRE) | JAL JAL ,700 68% [£+:17.900. H:17.100 ,100 .700 .700 .900 100
IMRFE (HE) | JAL JAL 400 69% |#+:17,000, H:16,700 ,200 | 21,800 | 21,800 | 17,000 700
IEZEN A (FE) | JAL JAL 4,800 66% ,000 | 19,000 | 19,000 | 14,800 | 14,800
M FE CHE) [ JAL JAL 4,800 66% ,500 | 19,000 | 19,000 00 00
INA=RL IMRFE (HE) [ JAL JAL ,300 72% | £:15.800 ,100 | 22,500 | 22,500 | 15,800 00
B LI 5 CHE) [ JAL JAL 00 73% _|$H:15.800 ,900 00 00 00 00
IMA=IEE MR CRE) | JAL JAL 800 70 :17,100 ,900 | 22,900 | 22,900 | 17.800 | 17.100
L% CHE) [ JAL JAL 7,100 71 418,400, £:16,100, H:17,300 ,900 | 22,500 | 22,500 00 | 17,300
M= ILAFE IMRFE CHHE) | JAL JAL 8,600 71 400 .500 .100 .100 400 | 18,600
I=EES CHHE) [ JAL JAL 7,400 73 00, H:16.500 ,300 ,700 ,700 500 | 16,500
IMNE=HZE IR7¥ CRE) | JAL JAL 8,000 68%  [£:20,100, H:20.000 400 400 400 ,000 | 20,000
HER CHE) [ JAL JAL 7,000 70% |4 +:18,000. H:18,400 ,500 | 22,300 | 22,300 | 18,000 | 18,400
IMNR=TER INERFE CRE) | JAL JAL 400 73% ,200 | 22,200 | 22,200 | 15,400 400
BEE CRE) [ JAL JAL 400 73% 1,800 | 20,600 | 20,600 400 400
INR=TEH INMRFE CHE) [  JAL JAL ,200 68% 7.100 4,900 | 24,800 | 24.800 100 .200
BinFE CHHE) [ JAL JAL 400 70 7.800 4,500 ,700 ,700 | 17,800 00
M= INMRFE CHE) [  JAL JAL 7.500 71 8,000 800 ,000 ,000 | 18,000 600
BEI%E CHE) [ JAL JAL 7,500 71 :19,100 4,900 | 23,300 | 23,300 | 17.500 00
INA=FAL IMRFE (FE) | JAL JAL 8,300 70 %:20,300, £:17,100, H:19,900 6,500 | 24,900 | 24,900 | 17.100 | 19,900
WL (FE) [ JAL JAL 8,800 69 £:19.900, H:19,800 4,900 | 24,500 | 24,500 | 19,900 00
=3t M IR7Y:3 CRE) | JAL JAL 7.700 73 £:19,000, £:17.100, H:18,200 ,300 | 24,900 | 24,900 | 17.100 .200
E Y ES CHHE) | JAL JAL 17,500 73 £:19,000, £ H:17,100 24,000 | 23,900 | 23,900 | 17.100 | 17.100
IMNR=K5 IR7¥ CRE) | JAL JAL 16,700 74 A£+£:17.700, H:17.500 23,900 | 22,700 | 22,700 | 17.700 | 17.500
ARHE (HE) [ JAL JAL 17,000 74% _|£:17,500, H:18,000 24,300 | 23,500 | 23,500 | 17,000 [ 18,000
MMA=RIE IMAFE (FE) | JAL JAL 17,000 75% _|%:18,000, 1:18.500, H:17.500 23,900 | 23,500 | 23,500 | 18,500 | 17,500
RIBE CHHE) | JAL JAL 18,500 73% 9,000, H:19,500 25,100 | 24,300 | 24,300 500 500
INR=RER INAFE CHE) | JAL JAL 16.700 75% |£+% 00 23,100 | 22,500 | 22,500 500 500
REAR (HE) [ JAL JAL 16,700 75% | A: ®:17.500, £:18,000, H:18,500 24,300 | 23,100 | 22,700 | 18,000 | 18,500
INA=E I IR7¥ CRE) | JAL JAL 15,500 76% | A: > H:16,600, 1:16,100 22,800 | 22,000 | 21,600 100 600
G (HE) [ JAL JAL 15,500 76% & 6,100, H:17,500 24,300 | 22,000 | 21,200 | 16,100 | 17.500
ME=ERE I FE CRE) | JAL JAL 16.700 76% |[£+:17.700, H:17.000 23,100 | 22,700 | 22,500 .700 | 17.000
BE IR B 5 CRE) | JAL JAL .700 76% | H:18,000 24,300 | 23,100 | 22,500 | 16,700 | 18,000
B (R =/ PEE RER) % CHE) | JAL JAL .800 69% |4 :25,000 30.200 | 27.200 | 27.200 | 25,000 | 25,000
INERFE CHHE) | JAL JAL ,800 69% 5,000 27,500 | 27.200 | 27,200 | 25,000 | 25,000
WREFTFR) =FEXE [LREFETH CRE) | JAL JAL ,100 79% :20,900, H:19,900 39,900 | 40,800 | 40,800 | 20,900 | 19.900
(HE) [ JAL JAL 19,100 79% :20,900, £:21,000 40,800 | 40,900 | 40,900 | 19,100 | 20,900
B EPN- CRE) | JAL JAL 18,400 79% :20,900, H:19,900 38,400 | 38,400 | 38,400 | 20,900 | 19.900
CRE) [ JAL JAL 18,400 79 :20,900 39,200 | 38,400 | 38,400 | 18,400 | 20,900
ME=EXXE CRE) | JAL JAL 17.900 77 :20,900, H:19,900 39,800 | 39,800 | 39,800 | 20,900 | 19.900
CRE) [ JAL JAL 17,900 77 :20,900 39,900 | 39,000 | 39,000 | 17,900 | 20,900
IME=BEXE CRE) | JAL JAL 17.900 77 :20,900, H:19,900 33,700 | 33,700 | 33,700 | 20,900 | 19.900
CHE) [ JAL JAL 17,900 77 :20,900 34,100 | 33,700 | 33,700 | 17.900 | 20,900
MNA=FRBE CRE) | JAL JAL 19,200 66% | +:20.200 26,400 | 26,400 | 26,400 | 20,400 | 19.400
iR FCHA) [ JAL JAL 18,700 67% | H:19.200 25,600 | 25600 | 25,600 | 18,900 | 19,400




[FE#B5I28  EER(3A29A~4830AETEMQ

EBEERE 2015/2/3  ~
BV
=4| 1= UO) RERH 4/27 | 4/28 | 4/29 | 4/30
EKED | KE@
AR T F ) =/ ALIR (T80 % | BUR JAL JAL [ 18,900 [ 18,900 [ 18,000 [ 19,000
IMRFE FR( JAL JAL | 17,100 [ 17,100 | 19,000 | 18,500
2R =/Mi 1EE 5 R (3 JAL JAL [ 19,200 [ 19,200 [ 18,100 | 19,700
INAFE R JAL JAL | 18,100 | 17,000 | 18.400 | 18,900
iR = MR impl% | WRE( JAL JAL | 17,400 | 17,400 [ 17,400 | 17,400
INERFE R JAL JAL | 16,200 | 16,200 | 17.400 | 16,200
TBII=/ JENIE:S ETAE JAL JAL | 17,300 | 17,300 | 18,200 | 17.300
IMAFE FR( JAL JAL | 16,200 [ 16,200 | 17,500 | 16,300
SIER =/ S EEE JAL JAL [ 16,100 [ 16,100 [ 16,100 [ 16,100
IMRFE FR( JAL JAL | 16,200 [ 16,200 | 16,200 | 16,200
HIL=/MR HILFE EGE JAL JAL [ 16,100 [ 16,100 [ 16,800 | 16,100
INEAFE EAE JAL JAL [ 16,100 | 16,100 | 16.800 | 16,100
B =/ B R (3 JAL JAL [ 16,700 [ 16,700 [ 19,000 | 16,700
IS IR (S JAL JAL | 15,900 | 15,900 | 15,900 | 15900
EH=/M EHR R (3 JAL JAL | 15,000 [ 15,000 [ 16,400 | 15,000
INHAFE IR (S JAL JAL | 15,000 | 15,000 | 16.400 | 15,000
ZiR=/2 ZiR% EGHE JAL JAL | 16,000 [ 16,000 [ 17,000 [ 16,000
INVEY ESAE JAL JAL | 16,000 | 16,000 | 18,000 | 16,000
=/ AR ESAE JAL JAL [ 16,700 [ 16,700 [ 16,700 | 16,700
I R (3 JAL JAL | 16,400 | 16,400 | 16.400 | 16,400
Wiz =/ I3 ETAE JAL JAL | 14,800 | 14,800 | 14,800 | 14,800
IS EAE JAL JAL | 14,800 | 14,800 | 14.800 | 14,800
M= L INAFE ETAE JAL JAL | 16,300 | 16,300 | 16,300 | 16,300
fig] LI 5 IR (S JAL JAL | 15,500 | 15,500 | 15,500 | 15,500
IME=IRE MRS B’ JAL JAL | 17,800 [ 17,800 [ 17,800 | 17,800
LE% HR( JAL JAL | 17,100 | 17,100 | 17,100 | 17,100
MMA=1LOFH AT ESAE JAL JAL | 18,600 [ 18,600 [ 18,600 | 18,600
WOFHHE | ®BRE( JAL JAL | 17,400 | 17,400 | 15,400 | 17,400
IMA=HZE INMAFE R (3 JAL JAL | 18,000 [ 18,000 [ 18,000 [ 18,000
HESE EAE JAL JAL | 17,000 | 17,000 | 17,000 | 17.000
IMA=TES IV FE R (3 JAL JAL | 15,400 [ 15,400 [ 15,300 | 15,400
BEE EAE JAL JAL | 15,400 | 15,400 | 15,300 | 15,400
IMA=F MRS R (3 JAL JAL | 18,200 [ 18,200 [ 18,200 | 18,200
=T EGAE JAL JAL | 17,400 | 17,400 | 17,400 | 17,400
M= IMAFE ESAE JAL JAL | 17,500 [ 17,500 [ 16,700 | 17,500
=A% EGAE JAL JAL | 17,500 | 17,500 | 16,700 | 17,500
M =#xl N ESAE JAL JAL | 18,300 [ 18,300 [ 17,700 | 18,300
L FE ESAE JAL JAL | 18,800 | 18,800 | 18,200 | 18,800
IMR=FE M IR FE ESAE JAL JAL | 17,700 [ 17,700 [ 17,800 | 17,700
JdAMRE | BWEC JAL JAL | 17,500 | 17,500 | 17,200 | 17,500
IME=K5 AN FE ESAE JAL JAL | 16,700 [ 16,700 [ 17,200 | 17,700
A% EGAE JAL JAL | 17,000 | 17,000 | 17,500 | 17,000
IME=RIG AT ESAE JAL JAL | 17,000 [ 17,000 [ 17,000 | 17,000
RIGH RIS JAL JAL | 19,000 | 18,500 | 18,500 | 18,500
IMA=RER IR FE ESAE JAL JAL | 16,700 [ 16,700 [ 16,700 | 16,700
REAFR EGAE JAL JAL | 17,000 | 16,700 | 16,700 | 16,700
IMNE="E I IR FE ESAE JAL JAL | 15,600 [ 15,500 [ 15,500 | 15,500
BB 5 EGAE JAL JAL | 15,500 | 15,500 | 15,500 | 15,500
MA=ERS IR FE ESAE JAL JAL | 16,700 [ 16,700 [ 16,700 | 16,700
EREE [FHR( JAL JAL | 16,700 | 16,700 | 16,700 | 16,700
hEE (RE) =/ B GRE) R | BR JAL JAL | 21,800 [ 21,800 [ 21,800 | 21,800
IR FE RIS JAL JAL | 21,800 | 21,800 | 21,800 | 21,800
IR FHTFR) =FBEXS [ARETFRE|ERC JAL JAL | 19,100 [ 19,100 | 38,800 | 20,900
BEXER [ER( JAL JAL | 20,900 | 19,100 | 38,100 | 19,100
EHR=EXKE EH% BR( JAL JAL | 18,400 [ 18,400 | 38,700 | 20,900
BEXER [ER( JAL JAL | 20,900 | 18,400 | 38,700 | 18,400
HE=EXXE =R EVAE JAL JAL | 17,900 | 17,900 | 39,000 | 20,900
BEAER [FR( JAL JAL | 20,900 | 17,900 | 38,200 | 17,900
IME=BEKE INAFE EVAE JAL JAL | 17,900 [ 17,900 [ 32,800 | 20,900
BEXER [FR( JAL JAL | 20,900 | 17,900 | 32,800 | 17,900
IMA=FIEEE MRS IR JAL JAL | 19,400 [ 19,400 [ 19,400 | 19,400
EftEiES | WRC JAL JAL [ 18,900 [ 18,900 | 18,900 | 18,900

JAL/JTA/JAC/RAC



[FHE528 BEER(GA1H~31BEES)

JAL/JTA/JAC/RAC

BEERA 2015/2/3 ~
[N [
=45 #Emd BESH 5/8-31 f}l;;ﬂg s 5/1 | 5/4 | 577
RED | RFE@ =
LR T F ) =/ HLIR G T 5%) 3 V[ JAL JAL 7,800 TES H:20,800 19,700 | 19,700 | 17.600
R Y[ JAL JAL 8,500 70% | H:18,400 23,900 | 16,100 | 19,600
Rl =/ 2 HEES Y[ JAL JAL 9,200 7% A H:19,800 19,700 | 19,000 | 20,100
IMAFE Y[ JAL JAL 7,000 74% |k I £:19,700. H:20,200 22,500 | 17,900 | 20,000
T = /MR TR Y[ JAL JAL 9,200 73%  |%:20,000. £:19,100. H:23,000 18,500 | 20,400 | 19,200
INEASE Y[ JAL JAL 7,700 75% |#+:20,400. B:20,500 20,300 | 16,200 | 17,700
TBI=/N2 ENIES Y[ JAL JAL 9,400 72% |%:20,200. H:22,600 19,000 | 20,500 | 19,400
INEASE Y[ JAL JAL 8,400 73% |A:18,800. % +:21,000. H:20,000 20,900 | 17,900 | 18,800
SRR =/ SRR S ) JAL JAL 7,700 74% |[£+H:18.300 16,700 | 16,200 | 17,700
IMAFE Y[ JAL JAL 8,300 73% 20,400, H:18,800 19,700 | 16,700 | 18,300
HL=/2 HIL Y[ JAL JAL 7,700 74% ,900. % +:21,800. H:18,700 20,900 | 16,100 | 17,900
INEASE V[ JAL JAL 17,400 74% 18,100, £:20,300, £:18,700. H:22,800 21,300 | 19,500 | 18,100
BEEE =/ ERAE S ) JAL JAL 17,700 70% 21,200 19,000 | 20,200 | 17,700
IMAFE V[ JAL JAL 16,900 72% 19,200, £:18,600. H:21,500 20,600 | 20,300 | 16,900
BHR=/I EHE )| JAL JAL 15,000 74% 15,300 16,400 | 16,400 | 15,000
IMNAFE V[ JAL JAL 15,000 74% 16,000 16,400 | 16,400 | 15,000
ZR=/1 2 P V[ JAL JAL 16,000 72% 17,000 | 17,000 | 16,000
£ V[ JAL JAL 16,000 72% 18,000 | 18,000 | 16,000
=/ £ ) JAL JAL 16,700 68% [£+:17,900. H:17,100 17,900 | 17,100 | 16,700
IMAFE V[ JAL JAL 16,400 69% |2 +:17,000, B:16,700 17,000 | 16,900 | 16,400
Wiz =/ W% ) JAL JAL 14,800 66% 14,800
INAFE V[ JAL JAL 14,800 66% 14,800
M= L IMNAFE V[ JAL JAL 16,300 72% | +:15,800 16,400 | 16,300 | 16,300
i LLI 6 V[ JAL JAL 15,500 73% |&H:15,800 15,800 | 15,800 | 15,500
IMR=TEE IS ) JAL JAL 17,800 70% 17,100 18,200 | 17,100 | 17,800
LE% V[ JAL JAL 17,100 71% 18,400, £:16,100, H:17.300 18,400 | 17,300 | 17,100
MMa=ILAFH INIAFE ) JAL JAL 18,600 71% 16,400 20,100 [ 18,600 | 18,600
WOFEH V[ JAL JAL 17,400 73% 15,500, H:16,500 17,500 | 16,500 | 17.400
IMR=HE IMRFE ) JAL JAL 18,000 68% 20,100, H:20,000 20,100 [ 20,000 | 18,000
HEH V[ JAL JAL 17,000 70% 18,000, H:18,400 19,000 | 18,400 | 17,000
IMA=TE5 R V[ JAL JAL 15,400 73% 15,300 | 15,400 | 15,400
EEX V[ JAL JAL 15,400 73% 15,200 | 15,400 | 15,400
IMR=BH AN FE V[ JAL JAL 18,200 68% £:17,100 19,200 | 19,200 | 18,200
EFE V[ JAL JAL 17,400 70% 18,700 | 18,800 | 17.400
IMR=B4 IS ) JAL JAL 17,500 71% 18,400 | 18,600 | 17,500
EHFE V[ JAL JAL 17,500 71% 18,100 | 19,100 | 17.500
MY =H1L INAFE Y[ JAL JAL 18,300 70% 19,700 | 19,900 | 18,300
LFE V[ JAL JAL 18,800 69% 19,300 | 19,800 | 18,800
MR=JERM IMRFE ) JAL JAL 17,700 73% 19,000, £:17,100, H:18,200 20,400 | 17,400 | 17,700
E[ZNLE: Y[ JAL JAL 17,500 73%  |%:19,000, £ H:17,100 19,500 | 17,800 | 17.500
IMR=K%5 IMRFE ) JAL JAL 16,700 74% | A% +:17,700. H:17,500 19,000 | 16,900 | 17,700
ADHE )| JAL JAL 17,000 74% | A:18,500. £:17,500. H:18,000 19,000 | 19,000 | 18,500
IMNA=RI& INAF V[ JAL JAL 17,000 75% |4 :18,500, H:17,500 18,500 | 16,700 | 18,000
RIBHE V[ JAL JAL 18,500 73% 19,500 | 19,500 | 19,500
IMA=FER INAFE )| JAL JAL 16,700 75% | A:17,000. 19,500 | 17,000 | 17.000
REAR Y[ JAL JAL 16,700 75% | H:17,000. 7 18,000 | 18,500 | 18,500
INA=E & IMAFE V[ JAL JAL 15,500 76% | H:15,600. 7 17,600 | 16,100 | 16,100
5 )| JAL JAL 15,500 76% | A%:15,600, 16,600 | 16,600 | 15,600
IMNA=ERE INAF V[ JAL JAL 16,700 76% | AH:17,000, 19,000 | 16,700 | 17.000
BERERX V[ JAL JAL 16,700 76% | A:18,000. H:19,000 18,000 | 18,500 | 18,000
HIRGFR) =EXEXE [AREFRE )| JAL JAL 19,100 79% | A% +£:20,900, H:19,900 38,200 | 37,900 | 20,900
V[ JAL JAL 19,100 79% 3 H:20,900, A:19,600, %:22,300 43,800 | 38,500 | 19,600
EHR=BEZKE BERE Y[ JAL JAL 18,400 79% | A% +£:20900, H:19,900 38,700 | 38,700 | 20,900
BEREHR Y[ JAL JAL 18,400 79% | A H:20,900 38,700 | 38,700 | 18,400
MH=BEZXE RS Y[ JAL JAL 17,900 77% | A% +£:20,900, H:19,900 39,900 | 37,400 | 20,900
BEREHR Y[ JAL JAL 17,900 77% | A H:20,900 39,000 | 39,100 | 17,900
IMA=FEEKXE INAF V[ JAL JAL 17,900 77% | A% +£:20,900, H:19,900 33,700 | 35,600 | 20,900
BEXEH )| JAL JAL 17,900 77% | A H:20,900 34,100 | 35,600 | 17,900
INA=TERBE INMAF HAECHE) [ JAL JAL 19,400 66% |4 1:20,400 28,300 | 19,400
FfeEER [ HECHE) [ JAL JAL 18,900 67% | H:19.400 27,500 | 18,900




[E#RI5128 5ERHK(6A1A~30AERS)

JAL/ITA/JAC/RAC

EEEAD ~
=40) k0] 6/1-4 ng fii% 6/5-11 6/12-30 fii%
AREFFE) =/ 800 71% [A7:16.800 800 800 800, :17,600, : 17,900,
000 68% | A4:17,000 000 500 £:92,700_ H:17,300
=1 200 7 %:20,100 200 100, 20,600, +:19,000, 200 100, %:20,600. F:19,000. 19,800
900 H:17,000 900 §:18,100, £:22,600, £:19,700, 900 100, %:22,600, :19,700, H:20,200
ERI=/ME 5 200 200 000, +:20,100, H:23,800 200 000, +:20,100, H:23,800
200 600 100, & +:21,800, H:21,400 600 100, & +:21,800, B:21,400
TBIT=/NE 700 700 1,000, £:19,900, H:23,100 000 00, H:23,100
600 2% 600 600 2,700, H:20.900
EIEETRA 700 74% 700 700 18.300
300 73% 300 [ £:20,400, H:19,500 300 0400, H:19,500
FER=/E 200 73% 17,900 200 22,300, :22,000, H:20,200 200 8,600, £:22,700, £:22,300. H:20,600
900 74% | A A:18,200 900 I :18,200, :21,100, +:19,100, H:23,800 900 K:18,600, $:21,800, £:19.100. H:23,800
=/ 300 69% 900 2,000 ,900 2,900
900 72% 900 1,300, £:20,700, H:22,000 900 1,300, £:20,700, H:22,000
FH=/R 000 74% 000 115,300 ,000 15.300
000 74% 000 116,000 000 16,000
N 000 72% 000 000
000 72% 000 000
FRE =/ 700 68% 700 % +:17.900, H:17.100 700 & 17,900, B:17.100
400 69% 400 % +:17,000, B:16,700 400 % F:17,000, H:16,700
[EZ2ZEN Al 800 66% 800 800
Al 800 66% 800 800
A= Al 300 72% 300 5,800 300
Al 500 73% 500 15,800 500
IME=EE Al 800 70% 800 [B:17.100 800 [H:17.100
Al 100 71% 100 8400, F:16,100, A:17,300 100 8400, F:16,100, A:17,300
WOFE [3 Al 600 71% 600 00 ,600 00
[3 Al 400 73% 400 5,500, H:16,500 400 5500, H:16,500
MA=HE Al 000 68% 000 0,100, H:20,000 ,000 0,100, H:20,000
Al 000 70% 000 £:18,000. H:18,400 000 £:18,000. H:18,400
MA=FE N A 400 73% 400 400
Al 400 73% 400 400
INE=ER Al 200 68% 200 19,200, £:17,100 ,200 19,200, £:17.100
Al 400 70% 400 18,700, %:17.800 400 18,700, %:17.800
MA=BH JAL 500 71% 500 18,600, £:18,000 500 18,600, £:18,000
Al 500 7i% 500 19,100 500 19,100
A=A Al 300 70% 300 £:20,300, £:17.100, H:19,900 300 300, £:17,100, H:19,000
Al 800 69% 800 19,900, H:19,800 800 19,900, H:19,800
=AM Al 700 73% 700 9,000, +:17,100, H:18,200 700 9,000, +:17,100, F:18.200
Al 500 73% 500 9,000,  H:17,100 500 9,000,  H:17,100
NE=K5F Al 700 74% 17,700 700 £:17,700, H:17,500 700 £:17,700. H:17,500
Al 000 74% 000 7,500, H:18,000 000 7,500, H:18,000
NA=RiR Al 000 75% | 18,000 000 8,000, %:19,000, £:19,500. H:18,500 000 8,000, %:19,000, £:19,500. H:18,500
Al 500 73% | A:19,000 500 :19.000, H:20.200 500 19,000, H:20.200
NE=FER Al 700 75% 700 [ 8:18,500, +:17,500 700 [ % H:18.500, £:17,500
Al 700 75% | B:17,000 700 3:17,000, £:17,500, F:18,000, H:18,500 700 7,000, %:17,500, £:18,000. H:18,500
NA=ER Al 500 76% | 5:15,600 500 §:15,600, £:16,600, F:16,100, H:17,500 500 5,600, %:16,600, £:16,100, H:17,500
Al 500 76% 500 >:15,600, +:16,100, H:17,500 500 5,600, +:16,100, H:17,500
=ERE Al 700 76% 700 17,700, H:17,000 700 17,700, H:17,000
Al 700 76% 700 1:19.000 700
RHLGRE) = /MR JAL 800 69% 800 24700 % 23800, H:25.000 200
N Al 800 69% | 800 0_-+-24900. B:23600 900
HRFTR) =BXXE [ABEFETH R JAL 100 79% 20,900 400 £:23,30( 22,300 600
5 Al 100 79 20,900 400 122,300, :20,600 600 3,300
ER-READ Al 400 79 20,900 100 300 +:24,300, 23,300
Al ,400 79 20,900 100 300 3,300
RE=BXXE AL 900 77 20,900 100 ,300 24,300, H:23,300
Al 900 77 20,900 100 300 3,300
TA=BEXS Al 900 77 20,900 100 300 +:24,300, :23.300
LR Al 900 77 120,900 100 300 3,300




